PlLEEXEN —=2 T 03—

HER

FAH (1BEREIZDE) BBEA
FRE|  EA BTS} Ba | Ay | (BRI
EE5 #m 540 270M
Frrkis i 1,080M 810
% BMEE L5 s 100/ 50/
F7)—F&m| 210M 430 320 860
7' )—++mE 100/ 210M 150 3.240H 430/
KLEEEN —=2 Tt 5—
FAH (1BEREIZDE) FREAH (185fEIZ D)
FRE|  ER ATSH Ea& | B BTPY sk | R
EEIE &mH 540 270M
Bk 540 1,080M 810/ 5140| 10,280/ 7,710F
F)—F&m| 210M 430M 320 860
3,240M
7')—++mE 100M 210M 150 430M
EHMEBEEN ——V T 5—
FAH (1BEMEIZDF) FRERH (185REIZ D)
FRE|  ER ATSH ES | B BTPY sk | R
R L BRtkim 410M 830M 620M 620M| 1,030 830MH
Frrkis 830M 2,080 1,560 5140 | 10,280M| 7,710M
F=RXa—r1E) 320M 620 510M 320M 5104 410M
F)—F&m| 210M 430M 320M 860
3,240
7')—++mE 100M 210M 150M 430M
TREHEER
R A
BERE | FRI(9~12)| FF#(13~17) | ®RE(17~22)| #&LH(9~22) i
HHE=E 1,080M 1,080M 1,620M 3,780M
=
BREARHRE 540 540 750 1 820pg| %07 (M)
REBE
MMI=E FEFEAFOB) mrsmg-yoh— 5%
IT B FI AR #wEE—A 3,080
2E 158=24T 320M ek 520
TR 1,940 E =Bk 420M
-, 1178 860M t = l?)iﬂs'z
—sl 1,080 fariz
ESHTA . MRS = BBk
pes 1TE28 4 g 310




Ta1—2R NI—I%
DA APk
TFeyT 540 Yyh—EER
KLy HEkAE
BREER-N 1@
av=xYy X B kAR A
i =-Fiva F A
BT 140/ MRE 17 B=1%0455L4 100/
ROEF 100/ B 1% 15M
& 1¥07354 50M riE ki 750M
§r)% 1[9] 290M
FILEE e 52—
FAH (1EFFEIZDE) BREA L
FIRE BT iy 8 Ba (1B DF)
ZBWILE i 540M 270M
F)—F&m| 150 320M 230M 2106
7' )—++mE 70M 150M 110M
REEEE 510




